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3.

Which of the following are the exclusive

powers of the Lok Sabha ?

1. To introduce the Money Bill.

2. To ratify the declaration of emergency.

3. To pass a motion of no confidence
apainst the Council of Ministers.

4. To impeach against the President.

Choose the correct answer from the code

given below :

Code :
(a) 1 and 3 (b) 1and 4
(c) 3and 4 (d) 2 and 3

Which of the following sea is situated
between Philippines and Vietnam ?

(a) Philippines Sea (b) Celebes Sea

(c) South China Sea (d) East China Sea

The provision for Anti Defection Act
is mentioned in which of the following
Schedules of the Constitution of India ?

(a) 9* (b) 12

(c) 11™ (d) 10"

With reference to the Vikramshila University
which of the following statements is/are
correct ?

I. Vikramshila was one of the most
important centre of learning in India
during the Pala period.

2. Rakshit, Virochan, Ateesh, Deepankar
and Ratnakar Shanti were very important
Acharya of Vikramshila University.

Select the correct answer using the code
given below :
Code :

(a) Only 1

(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 2

What was the theme of the 40" Indian
International Trade Fair held in November,

202172
(a) Atmanirbhar Bharat

(b) Vocal for Local
(c) Is of Doing Business
(d) None of the above

3.
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(c) 33 4 (d) 233
firefifty sit fraaam & da Prefafed 4 8
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WA & gfaam & Freafafaa 3 @ forg syE! |
TA-gee U HAfifm 7 yEgE 8 7

(a) O i (b) 12 +f

(c) 11 i (d) 104

faafyen favafaeey & ded § fafafaa 9 @

HIA-T1 /A wU T /R 7

1. ¥Rd 4 9ret e H fasanfiren v qevagu
AT g ol |
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AEE 9 |
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He:
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(c) 1 aur 2 gHl (d) ¥ae 2
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L)
g v peference to Naﬂiona.l A.\’Uﬁ‘eda D
b w“th which of the following staten,
T a0t

ay
t

- rre(‘t ?
is ?lw(:; celebrated on 23" Octope,
1. '
2021- ‘A da fi
(i theme WaS AYRIVEAa lor Pogp, .
g,;lect the correct answer from the code gi';fe
N
pelow :
ode i
(?a) { otily (b) Neither ) nor 9
o) Both 1and 2 (d) 2 only
i which of the following Puranag, the five

characteristics of the Puranas are mep,
(a) Vaman (b) Matsya
(c) Vayu (d) Vishny

tioned »

8. Bywhich Constitutional Amendment payy e
was added in the Indian Constitutjop -

(a) 52™ Constitutional Amendment
(b) 97 Constitutional Amendment
[c) 93™ Constitutional Amendment
({d) 73" Constitutional Amendment

9. Which one of the following States is a leading
producer of diamonds in India ?

(a) Telangana (b) Karnataka
(c} Madhya Pradesh (d) Odisha

10. In India, the voting age was lowered from
2] to 18 years by which of the following
Constitutional Amendment ?

(a) 56“\ [b] 88!]1
(C) 72“‘1 [d) 61

1 Knock-Knee syndrome results due to

Pollution of
He&vy metal (b) Phosphate

() Fluorides (d) Nitrate

‘ . A ich of
s Baltic Republics do NOT include Wh!

> fOnO\Ving ? .
* Denmark 2. Estonia

3. Finlang 4. Latvia

3 = " the Code
o lect the correct answer using

b -mnbelow;
| Q‘T“ a4
lang o (b) 2 an
h)zand3 (d] 1 and 3

6.

10.

11.

12
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(a) 94 (b) T

c) o1 (d) fersoy
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‘M IX B' |91 AT 7

(a) 52 &1 FAwfE dey
(b) 97 a7 WuE dvivs
(c) 93 9 WAwris Teiug
(d) 73 &t gaurfis gemam

frfafen & @ wh-m o= T e § A W
YHE IUIGH 3 7

(a) detTAT {b) HATeH

(c} ReT W& (d) snfeam

Wit 4 fFe wfaue aviies ¥ g aaem € 3
21 99 | W 18 9§ W A M 7

(a) 56 af
(c) 7241

(b) 8841
(d) 614

Th-A Frgm e seEw % HRo e @

(a) Wil urg (b) HiEhe

(c) FARIEEH (d) T

e TR # Prefifea § 2 @ wivg
TR ?

1. T 2. T

3, fraete 4. @ty

T2

(@) 1 3T 2 (b) 23k 4

() 23R 3 (d) 13M3
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15.

16.

Which French traveller called Kashi as
‘Athens of India’ ?
(b) Manucci

(d) Bernier

(a) Thevenot

(c) Tavernier

Which of the following App is introdpct?d
by the Election Commission of India in
October, 2021 for digital mapping of all
polling stations ?
(a) Arjun App

{c) Trishul App

(b) Chatbot App
(d) Garuda App

Match List - I with List — II and select the
correct answer from the code given below
the lists :

List - 1 List - II

(Blue Flag Certified (Location)

Beach)

A. Ghoghla 1. Andhra
Pradesh

B. Kasarkod 2. Kerala
C. Kappad 3. Karnataka
D. Rushikonda 4. Diu
Code :

A B C D
(a) 4 3 1 2
(b) 4 3 2 1
(c) 3 4 2 1
(d) 3 4 1 2

Match List - I with List — Il and select the
correct answer from the code given below
the lists :

List - I List - II
(Code) (Year of
Introduction)
A. Code of Civil Procedure 1. 1862
B. Indian Penal Code II. 1859
C. Criminal Procedure Code IIJ. 1861
D. Police Act IV. 1860
Code :
A B ¢C D
(a IO 1nv 1 111
(b) M1 v 1 I
() I 1Im 1v |
d v 1 11 111

13.

14.

15

16.

el B T T T

I
w0 (b) T
(a) YA @)
(c) athat 5
N gr ST, 2021 ¥ ay
wRa & g At 5 R e i 5
mer 5 i :
aﬁq—wﬁq{[@ﬁmwg -
(a) 3@"1@ (b) a:q
(c) et W@ (@) TS T
q\iﬁ_laa@-nﬁﬁaﬁmmmw
¥ 93 B3 ™ 7 @ TH IW IR -
gt - 1 et - 11
(%0 AT THIUH (srafeufa)
I de) _
A, Grgen 1. Y 9
B. FTHEHS 2.
C. g 3. HAH
D. &f3hier 4. €@
T2
A B C D
@4 3 1 12
4 3 2 1
() 3 4 2 1
@3 4 1 9
T 19 T - 1A gifm B o ghe
& @ ™ e A s gfi
‘:f;ﬁg*l T - 11
(=) (e En
.. w1 ad)
A. IS 3% Rfe efto I 1862
- g::amm II. 1859
C. ;ﬂ TR g . 1861
;ff i IV. 1860
.ﬁ B C D
(a) I 1v 1 I
b) W v
(c) I 11 1V 1
d Iv I I


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

19.

1,

o*ﬁ
@ which of the following pairs repreg
|7

. : ey .
same physmal quantity g Unijtg

of the

(a) Kelvin and Joule

{b] NeWtOﬂ and Calorie
'c) Ke]‘nn and Calorie

(d] Joule and Calorie

which of the following Article
provision that “the law declare
Supreme Court shall be bin ding

Courts within the territory of Ing

(a} Article 140
{) Article 142

mal{es
d by the
On al] the
ia” p

(b) Article 143

(d) Article 141

with reference to Delhi Sultanate copg; -
the following statements.

1. Sultangarhi was built by Sultan lltutmish,

2. Located in Delhi, it is the first tomb
built by Turks.

Select the correct answer using the code
given below :

Code :

(a) Only 1

(b) Neither 1 nor 2
[c) Both 1 and 2
(d) Only 2

In which of the following States of india
‘Chitrakote waterfall’ is located ?

(&) Uttar Pradesh

(b) Jharkhand

] Chhattisgarh

(d) Madhya Pradesh

OEGST Council ?

ﬂ‘,{lﬁ] President

i .': 3 '
) Union Finance MinisteT

: Prime Minister

® Deputy chairman of NITI AY8

-5-
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19.

20.

21.
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freferfn  -m ey o sifees w1 A
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(a) HfeaT T @

(b) =4 W FAd

(c) Hfea T Ha

(d) &1 W& Heir}

= § & S -w aeee T wauw S R
"IN AT G Hifd 1 9rd & Teaa
% it oft =maeEl F il et am ?

(a) 3T 140 (b) =BT 143
(c) =R 142 (d) =g 141

feeeht Teawa & ded ° f=fafiga semi o fEr

<ifom |

1. Gea™ @l 1 A0 HedH Jeqara |
HEMET o7 |

2, feeht # ety @ gavt g Fftfe v Wy o |

= fd 1 e 1 = A I F =

Hifu ;

e

(a) Fered

(b)Fd 1 3MAH 2

(c) 19T 2 S

(d) a2

‘T Sayue’ wia & Feffas ot A @

fored safera g 2

(a) IR T

(b) FETE

(c) BetETG

(d) Hed weH

= 7 @ B oftwe &, ofeg 1 srener B & ¢
(a) Tregafer

(b) fifq M 1 IRy

CEEARRERLEL

(d) SeTEA
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22. What is the rank of India in ‘Glob2

o

ix

23.

24,

25.

1 Food

Security Index, 2021’ ?
(a) 54
(b) 83
(c) 71
(d) 62

In the battle of Chandawar (1194 CE) King

Jaichand was defeated by Muhammad GOI:'I.

Present geographical location of Chandawar is

(a) Etawah district in U.P. at the bank of
river Yamuna

(b) Varanasi, U.P. at the bank of river Ganga

(c) Kannauj, U.P. at the bank of river Yamuna

(d) Prayagraj district in U.P. at the bank of
river Yamuna

Match List — | with List — II and select the
correct answer using the code given below
the lists :

List -1 List - II
A. Acetic acid 1. Ant’s sting
B. Lactic acid 2. Spinach
C. Formic acid 3. Vinegar
D. Oxalic acid 4. Curd
Code :

A B C D
(a) 1 2 3 4
M3 4 1 2
(c) 4 3 2 1
d2 4 1 .3

Which one of the following is NOT correctly
matched ?
(a) Shaukat Usmani

Kanpur
Conspiracy Case
Assembly Bomb
Case

Kakori Train
Robbery Case

Chatgaon Revolt
Case

(b) Khudiram Bose

(c) Ashfaqullah Khan

!

(d) Surya Sen

22.

23.

24.

25.

EEST _ 0

‘aﬁam@mgtw‘f"m’ zozl’ﬁmm
G 7

(a) 54

(b) 83

(c) 71

(d) 62

e ¥ g (1194 3.) 3 TS A= JRme i,
wﬁagflziaﬁuﬁaémﬁaﬁrﬁ%a%é

(a) 3.%. & geraT FH9E § TGN A F T W
(b) FRTURR, 3.5, H T TG T W
(c) w=itw, 3.9. T 9 AQ & T W
(d) 3.9. % AT A9 H AT A€ F w2 7

= - 1 H g - 18 gafea Hif g

Tl - 1 g - 11
A. Wfes amd 1. Hfifed % <5
B.ﬁﬁzﬁﬁm 2. 9Td%
C. Bl 3 3. Ry
D. 3Ffern apg 4. @
&2
(@1 2 3 4
(c) 4 3 2° 1
@2 a 1 g
ﬁq%%aﬁéﬁq@@@ﬁ ey
(a) a I I
(b) T |y & -
(c) FBIFeATR wf “Wﬁﬂiﬁ?@mﬁ
(d) HEa 5 e 71
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29,

30.

3

X .
& the capacity (vehicle per ho

~alculat® ion time ;
cal when reactio of the drivey ;¢

e rod esign speed is 80
tghsecond:;:h; dof t%:; veEliEle i é(r:ln Tand
averagif:nt of faction is 0.35. ke
coef?? (b) 724
((ﬂ: ?go (d) 653
c
the intensity of ra?nfal] is.mm_e than
the infiltration capacity of soil, thep, thi
infiltration rate will be

al to rate of rainfall

If

(a) €94 ‘
(b) more than infiltration capacity

(¢) more than the rate of rainfall

(d) equal to infiltration capacity

An approximate value of the drag coefficient

of a hemispherical parachute is
(a) 2.35 (b) 0.07
() 0.30 (d) 1.33

The natural process under which the flowing
river water gets cleaned, is known as

(a) Self-purification
(b) Oxidation
{c) Photo-synthesis

(d) None of these

fin a gradually varied flow dy/dxis positive,
then dE/dx

[8) is negative, if Y > Ye

) is always negative

) s always positive

d) is positive if v/ ve > 1

oil is 25%; It®

The field capacity of a s d specific

. ent wilting point is ot arlth of r
&Y unit weight is 1.5. If the 4¢P

#ne of 5 crop is 80 cm, the St

Othe soj] ig
©8en, (b) 14 ™
L] 12 oy (d) 10 cm

-

26,

27.

28.

29,

30.

31
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mﬂW(wﬁdﬁ)ﬁmaﬁﬁﬁ@?
Wgﬁmmzﬂéﬁénmﬂﬁw%ﬁ
gﬁm%ﬁtmﬁaﬂmaﬁétﬁm%'

% T 1AM 0.35 2|
(a) 600 (b) 724
(c) 700 (d) 653

aft T§9 (rainfall) & dEE go & A
(infiltration) afxa & R 2, @ FEH =«
gl

(a) TV T h SIS

(b) A8 ufgar 9 aAfies

(c) =9u1 R | ik

(d) 3F=:E AfE & GHH

Qﬁﬁ:ﬂéﬁ?ﬂwm%@(drag)ﬂmﬁw

FATG A B
(a) 2.35 (b) 0.07
(c) 0.30 (d) 1.33

&) wiepferen fafty Rred srgan ganm I 1 THT 1
& S 2, HEd 8

(@) TEEIEA

(b) TR

() TR -HISAT

(d) 90 & I

afe dit-off i s i dy,/ dx 90w 8, A dE/dx
(a) RUTeH X1 @ ARG Y > Ye

(b) BHIT HUTCHS Bl &

(c) §H GTTeHh Bl &

(d) GTcHe Bid1 & Al Y/ Ye > 1

TS e 6! & &HA1 25% §, F9 el Rrfrear
firg 15% B 3 fafire w6 51€ W 1.5 3 oy
foret e % 2 8 A TR 80 om R, A
1 TSRV &

(a) 8 Tt (b) 14 T

(c) 12 qft (d) 10 9=
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32.

33.

34.

35.

36.

37.

38.

ible by a
In GIS, interpolation is made pOSSlb y
principle called,

(a) spatial auto correlation

(b) Thematic auto-correction

(c) Thematic auto correlation

(d) spatial auto-correction

A 4 hr. storm with a uniform intensity of
1.5 cm/hr produced a runoff depth of 40 mm.

The average infiltration rate during this
storm is

(a) 4 mm / hr
(c) 6 mm/ hr

(b) 7 mm/ hr
{d) 5mm / hr

In a rectangular channel, if the critical depth is
2.0 m, the specific energy at critical depth is
(a) 3.0 m (b) 2.5m

{c) 2.0m (d) 1.5m

The alum added as a coagulant in water
treatment functions when the raw water is

(a} Acidic with high turbidity
(b) Neutral with low turbidity
(c) Alkaline with high turbidity
(d) Acidic with low turbidity

Salinity of water

(a) Increase evaporation

(b) Does not affect evaporation
(c) Reduces evaporation

(d) None of the above

Which of the following methods of designation
of crossing is mostly used in India 7

(a) Centre line method

(b) Isosceles angle method
(c) Right angle method

(d) None of the above

The time scale ratio for a mode] based on
Froude law criterion in terms of length scale
ratio Lr is

(@) Lr (b) Lr's
L
(© /JI; @ Jir

32.

34.

35.

36.

37.

38.

(b) 7 fasft. /g

fudft. s wa ;
L / (d) 5. /g

(c) 6 fuft. / ger

T AR A7 # A Hifdw TETS 2.0 3
@ swifees mewd W fafire S 2

(a) 3.0 1. (b) 2.5

(c) 2.0 . (@) 1.5

Il I9TR o fo Thee & ®9 H firers 78 fremn
afgar &M widt § 99 weal I 2 '
(a) 3T TEAIT % 1Y I

(b) =3 1AM F FY Jerf

(c) 3= TEATH F HTY ey
(d):qaﬂaﬁrméamm

Al § SR (Salinity)

() FHH T 3
(b)?ﬂﬂtﬁmaﬁwﬁa:@w
(c) SR 7 ey 2

(d) ITH H & g 7y
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B cey, depth of scoyy ;

:;ﬁheystralghtness of t};n f_‘ Tiver

e depth of SCOUr in regiy, € o, h

i ot angled bend then it is equaj t,
re (b) 2.00 D

(d) 1.50 D
urbmc develops 2515 kW gt
o the torque in the shaft is

(g) 400 kKN-m (b) 100 kN-my
(¢) 1000 kN-m (d) 3335 kN-py,

240 ™Pm

thmd flows in a 30 cm diameter
olds number of 108, If the

factor is 0.025, jche thickness of |

sublayer, in mm is

(a) 0.025

(c) 0.062

il Pipe at
friction

aminar

(b) 0.0031
(d) 1.00

§. The following surveys are conducted before
the alignment of a railway track.

1. Reconnaissance survey
2. Preliminary survey

3. Traffic survey

4. Location survey

The correct sequence in which these
Surveys are conducted is

@1,3,2,4 (b) 3
€3,1,4,2 (d) 1

8. The velocity distribution over one half of a

€ross section is uniform and is zero over Fhe
‘maining half. The momentum correction
tor for this cross section is

&) 2.0 (b) 3.0
b z:lmofthe following is NOT a method used
Plane table surveying ?
Back Scattering method
Radiation method

Versing method
terSECtmn method

"Ogy is the study of
Non, fluids
’l Newtoma_n fluids

39,

40.

31

424

43.

44,

45.

EEST - 04

et % AR, T § wpian i TE

el w m%w% D’ GHHI

Wim yare o :ﬂtﬁngué%,a‘ra‘a’,___ﬂ
%W%I

(@) 1.25 D (b) 2.00D

(c) 1.75D (d) 1.50D

T Cdisd 240 IMdwn. @ 2515 feamar
Fems@ TR igs i a R

(a) 400 kN-m (b) 100 kN-m

(c) 1000 kN-m (d) 3335 kN-m

Hiegs &1 10° W 30 Uit =49 & qgy § T
WA T'dl 81 4fe T S 0.025 2, ar fir. .

T enftFR &t Aiers @
(@) 0.025 (b) 0.0031
(c) 0.062 (d) 1.00

T ¢ & Wa@w ¥ Teel MeRafaa gaem fE
S Bl

1. I gz

2. YRYH Ha&u

3. ATAETE g

4, T GA

TE %0 e A wdem fro o @
(@) 1,3, 72, 4 (b) 3,1, 2, 4
) 3,1,4,2 d) 1,3,4,2

U PR I o A 9N W AT 0 T e
2 3R A9 e wm W o g T ITRY HTe

s fore wam gum e 2

(a) 2.0 (b) 3.0

(c) 1.0 (d) 4.0
ﬁtr%f@aﬁﬁﬁq—m@q—%aaﬂﬁwﬁ%%
& foru vl 7 B @ o

{a]éﬁ@ﬁzﬂ:ﬂﬁm

(b) TaRToT {Radiation) fafy
(c) ATIRE (Traversing) Tafér
(d) Yﬁ’lﬁﬁ (Intersection) fafy

Ratrerish

(a) &R ata

(b) A -=ifem
(c) e T

(d) ¥T9 &+ T

_ W AT B
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40,

47.

48.

49,

30.

5.

S52.

" fa)iandii

oes NOT depend

The flow velocity in a sewer d
onh

(a) its grade

(b) its roughness

(c) its hydraulic mean depth
(d) its length

Errors arising from carelessness of the
observer are known as

(a) mistakes

(b) systematic errors

(c) compensating errors

(d) discrepancy

Which amongst the BOD and COD of glucose
water is greater ?
(a) BOD

(c) Both are equal

(b) COD
(d) None of the above

As per IS 10500 : 2012, the maximum
desirable limits of iron and fluorides for
drinking water are

(a) 0.3 and 0.5 Mg/L, respectively
(b) 0.5 and 1.8 Mg/L, respectively
(c) 0.3 and 1.5 Mg/L, respectively
(d) 0.3 and 1.0 Mg/L, respectively

If the base period is 100 days and the duty
of the canal is 1000 hectares per cumec, the
depth of water will be,

(a) 0.864 cm (b) 864 cm
(c) 86.4 cm (d) 8.64 cm

Zero hardness of water is achieved by
(a) Using lime soda process

(b) Using excess alum dosage

(c) Ion exchange method

(d) Excess lime treatment

Switch angle depends upon
i. Heel divergence
ii. Length of tongue rail
iii. Flange way clearance
iv. Throw of switch
The correct answer is
~ (b) iandiv:

(c) iii and iv (d) ii and iii

-10-

46.

47.

48.

T

50.

ol.

52.

(a) 0.3 31X 0.5 fa.an. /<.
(b) 0.5 3 1.8 T /<f.
(c) 0.3 3 1.5 faam. /<.
(d) 0.3 3 1.0 fr.am. /=,

afg TF T FE (Duty) 1000 BT /FGHF T
ATERHTA 100 T B, oY ar=ft Y s gefi

(a) 0.864 4.7 (b) 864 ..
(c) 86.4 8. (d) 8.64 {.1.

(@) TR Bret fafty sy a5y
(b) 31Tk el wr Iuainy =%
(c) I Tafm fafy

(d) etk 1 Ioam w5y

f@ﬁﬁwﬁ\ﬁw%
i-gﬁ“;ﬂmmq{

ii. &
iii.mWwa?!gm
iv.%ﬁwﬁﬁ:

g 9 ?

(a) 19T ii (b) i 7o
(c) iii ™ jv Q) iiwlf
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W Due

s

=,
2o

sraph 4
a h.\f'dm:] =

rep
a) gEaUve

(c) mult peaks

isolateg Story, .
I

(b) COlhp]ex De&k

(d) single peak

he recirculation ratio in a higy,
when B2 ity, then t . 80 rage
# trickling BlERIS U, thevithe reC”CUIation
is
fa)Ctlor (b) zero
t) fess than 1 (d) more thap |

amber provided on a g]q in .
£ ?:fl(:lfi Which one of the 1'011!:»)\\:’g o is

< Mg is th
2 e
ing gradient * _
T 15 () 1in 30
(c) 1in 24 (d) 1in20

¢ Which one of the foll‘owing Mmethods cap
be employed for plastic and rubber waste
disposal ?
(a) Sanitary landfill
(b) Incineration
() Pyrolysis
{d) Composting

5. The product of traffic density and traffic
speed is termed as

(a) Traffic volume

(b) Basic capacity

[¢) Traffic capacity

(@) None of the above

A camera equipped with a 152 mm focal
length lens, is used to take a vertical
phomgl‘aph from a flying height on?SO m.
80ve mean sea level. If the terrain dis flat
Vith an elevation of 500 m, the scale of the
Photograph will be
(&) 1z 15’000

(b) 1:24,500
(01, 22.000

(d) 1 :20,000

i S
N 0 which property of mercury, it doe
i OT stick to glass ?

4 Viscosity

33,

54,

56.

7.

58.

29,

EEST — 04

T BRI W U i/ H e
ST B

(a) TE-T5H (b) fifra Rrer

(c) g Rt (d) whel R

afg ssa fowfem o # g3 afEsror sard
T B, T uiEE e gl

(a) 1 (b) A
(c) 18 %" (d) 18 Al

T M Teh W heal 48 § 1 w4 @1 R, @l
(a) 159 1 (b) 307 1
(c) 248 1 (d) 209 1

TS U1 W68 & 39fre F froem %
w - fafy = s 1 g 27

(a) AT yfr s

(b) 3 &

(c) UTEIcife

(d) @] Fmfor

AT ied SN Aramard 61 fd & PE (3m7e)
I BT o) I 2

(a) AT 6w

(b) HET &M

(c) FTART il aqwa

(d) STEd § F HE 7

1521?4.1:1’1.%?3}'21@%&@%%%3@11
W%aﬁamﬁmson‘}.?ﬁﬁéﬁw
%Wﬁmméﬁ%%q%mm% | afg

w%aﬁisoorﬂaa‘ﬁ‘ﬁém@a%,m
BIRIUTE i Thet it

(@) 1: 15,000
(¢) 122,000

(b) 1:24 500
(d) 1:20,000

wﬁ%@qﬁgm%w,agﬁaﬁqﬁﬁm
R?

(a) ¥IT

(b) 3TTESH

(c) 9934

(d) T98 99
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A1 A

60. If the sequent depth ratio of a hydraulic

61.

62.

63.

64.

65.

66.

jump ina rectangular channel is ]6-48.! the
Froude number at the beginning of the JUmp
is

(@) 5.0
(c) 10.0

(b) 12.0
(d) 8.0

If the impeller of a pump reccives liquid on
both of its sides the pump is known as

(a) Single stage pump
(b) Double suction pump
(c) Single suction pump

(d) Double stage pump

The minimum size of grit particles that can
be removed in grit chamber is

(a) 0.05 mm (b) 0.50 mm
(c) 0.20 mm (d) 0.10 mm
What is the relationship between the flying

height (H), the focal length (i), the air base
(B) and the photo base (b) ?

f H
B=— b)(B= =
2 b.H Y b.f
(€ B=_2 i
f.H f

The lost time due to starting delay on a traffic
signal approach is noted to be 3 seconds.
The actual green time is 25 seconds and
amber time is 3 seconds. How much wil] be
the effective green time ?

(a) 19 sec. (b) 35 sec.

(c) 29 sec. (d) 22 sec.

An angle measured with theodolite is o with

weight 2, The weight of % will be

2 4
(a) /4 0) 2
(c) 2 x 42 d) 2x4

According to recommendations of the Nagpur
Conference, the formation width of an [dea]
National Highway is
(@) 12 m
(c) 09 m

(b) 07.50 m
(d) 13 m

60.

6l.

62.

63.

64.

65.

66.

-12.

i

aregfere 3T iz,

o : .
U W;ﬂ ﬁ,ﬂgmﬁm (Frouq.,
Trg_{'rg 16.48 &, 38
Al 0.0 Uy
yfa ﬁﬁﬂﬁmﬁmﬁﬁaﬁmm””“
#fg e T :
i 2, i v 9 8

() Ukd T TH

(h) fz guon o=

(c) Uhed o1 T

() fz == 199

fire e 7 =g ST T0E FO L
T Hehell 8

(a) 0.05 1.1
(c) 0.20 fu .
I8[ S8 (H), A (focal) g0 (f),‘?_,a?; 9T 15
U1 I AT (b) H 71 T B 7

(b) 0.50 fa.mm.
(d) 0.10 fa.4r.

f H
(a) B=— (B -
b.H bif
(c) B = i (d) B_:Eﬂj
f.H f

U IATTE Fhd § Y6 o1 9To GG T2 7
3 b3 e foran | Tl wy g 05w
A TR 9 3 W-E ) A g0 e i
arm v

(a) 19§,

_ (b) 35 4.
(c) 29 4.

(d) 22 4.

ﬁ‘““g“‘f_”sa 8 AR o a0 3§ e B
1% % F e www gy

@ 2, o) 3

[C) 2 x 42 (d) 2 x 4

AR ge e & Pl“égﬁ‘f * st Ui
t % P < . HIER aHieH

(c) 09 1. (d) 13
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68.

69.

70.

1.

72.

. the theoretical mayy,

: = 1 - : m
apacity for a single lane of highway it the
L " * At = 2 Y e, 1 ol
speed of (he traffic stream is 40 joppp
l;‘ULl'ﬂ(

1 off 10 units)
(a) 3000 vehicles/hr.
(b) 2010 vehicles/hr.

(c) 2510 vehicles/hr.
(d) 2860 vehicles/hr.

Benkelman beam deflection method is used
for design of

(a) Rigid overlays on rigid pavements

(b) Flexible overlays on rigid pavements

(c) Flexible overlays on flexible pavements

(d) Rigid overlays on flexible pavements

The discharge through a V-notch varies as
(where, H is the head)

5/
H 4
3
H 2

(a) H'2 (b)

5/
(c) H'? (d)

if the reduced bearing of a line AB 18 N60° W
and length is 100 m, then the latitude and
departure of the linc AB will be,

{a) + 50 m, + 86.6 m
(b) + 70.7 m, - 50.0 m
(c) + 50 m, - 86.6 m
(d) + 86.6 m, - 50.0 m

locity of flow in a
Kennedy, its silt
ortional to

If 'V, is the critical ve
channel, then according to
transporting power is prop

¥ ) O
(a) VO.-" 2 VO
g iz

The similarity betwee? the forces of model

and prototype 1S
(a) Dynamic simnilarity
{b) Design similarity
(¢) Kinematic simila_my
(d) Potential similarty

-13-

03.

69.

70.

70

72.

EEST - 04

Ush Uehei-99 g% w1 Ygrf-aeh HaH T T
2rft = 6 avaw w40 FRAL /502 7
(g8 R F T )

(a) 3000 ATEA /T

(b) 2010 FTEA /=T

(c) 2510 TEA /e

(d) 2860 dTE /5

éwﬁﬂiﬁﬂfaa}qm?ﬁifaﬁlﬁm%axw%
fag

(a) B HfgH T FHIA 37T

(b) AR FgH T A=

(c) TFA TIEW LA AT

(d) T FHEA T FHSH HT

o v-ATa A Frema FemEEn 2 R
(sfef H 3 B)
1 5/
@) 12 (b) H*
5/ 3/
(c) H'? ) H'?

ofe Y@ AB 1 fggs feemmmM (Reduced bearing)
N60° W B Ten orars 100 T B, 91 AB @1 I

o

E:iﬁ@ (Latitude) a1 feur=il (Departure) MM
(a) + 50 #., + 86.6 1.

(b) + 70.7 ., - 50.0 .

(c) + 50 1., - 86.6 HI.

(d) + 86.6 #., - 50.0 1.

afe v il e # w1 I SR,
A WAL ET g MR (silt) gfEET wfE
guraTdl €l 8

1/
a /2
(a) Vo

7/

b 7 2
(b) Vg

) v 72 d v 2
Vo Vo

Hfee 3 Yidersy & Sl (forces) F < guEaT B
(a) TieEfier GHEdl

(b) fesga s

(c) TITdst THTE!

(d) THTI FHAST
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73. Ifthe base period of a 6 hr. unit hydrograph

74.

75.

76.

77.

78.

of a basin is 84 hr, then, the base period of

a 12 hr. unit hydrograph of the same basin
will be

(a) 90 hr.
(c) 72 hr.

(b) 168 hr.
(d) 84 hr.

The pressure in “Pascals” at a depth of 1 m

below the free surface of a body of water will
be equal to

(a) 1 Pascal

(b) 9810 Pascal
(c) 981 Pascal

(d) 98.1 Pascal

With reference to lining of a canal which of
the following statement is/are correct ?
i. It is necessary to minimise the seepage
loss in canal.
il, It increases the discharge in canal
section by increasing the velocity.
Select the correct answer using the codes
given below :
(a) Only i
(c) Both i and ii

(b) Neither i nor ii
(d) Only ii

In a sudden contraction, the velocity head
changes from 0.5 m to 1.25 m. If the
coefficient of contraction is 0.66, the head
loss in this contraction is

(@) 0.133 m (b) 0.648 m
(c) 0.644 m (d) 0:332 m

A manhole is generally classified as a deep
manhole, if its depth is more than

(a) 0.6 m (b) 3.0 m

(€) 1.5m d) 1.2m

Bourdon gauge measures

(a) absolute pressure

(b) standard atmospheric pressure
(c) local atmospheric pressure

(d) gauge pressure

3,

74.

Tex

76.

T

78.
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@W$5dﬂﬁ‘gwﬁwwaﬂq
84@%3‘1: iz el

sy et R 5 LA
(a) 90 2T (b) lﬁs.ﬂa
(c) 72 = @ 845

Rt P 1 e g & 170 A e
o e g % S A

(a) 1 TGN

(b) 9810 TEHTA

(c) 981 TTEH

(d) 98.1 Yrhet

T T ) R % ged F HH-A1 FH
gl g ?

i. T 3 fma % JHaH BT A
ii. 97 HEER AR &8 o FEe ® 78 &g

el fe T g 1 WA R FE I B G
(a) hael i (b) T ali 3T i
(c) i Ud ii M (d) ad ii

I TF=H (contraction) & 3 v 0.5 . &
1.25 Hl. 9% < ST ]| HFeH 1 0 0.6
&) 58 e H W i gl R

(a) 0.133 H1. (b) 0.648 .
(c) 0.644 H. (d) 0.332 .
U BHE shl AR W o ey eI & w9 4

wffepa foben wman 2, AR s 3
arfires 2| T

(a) 0.6 HI. (b) 3.0 .
(c) 1.5 (d) 1.2,
T A 9 B

(a) 9 <419

(b) HF AYHSTH o1

(c) T IrgHEeE 2 g
CIRERCIE]
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80.

81.

82.

83.

84,

85.

which of the following is dimensionless ?
(@) speciﬁc wcig.ht

(b) spcciﬁc gravity

(©) gpecific viscosity

(d) gpecific volume

Geostationary satellites have,

(a) same distance from earth’s centre
(b) same angle with geodetic stationsg
(c) same mass as global weight

(d) same speed as earth’s rotation

Various water treatment processes are listed
below .

1. Filtration

2. Chlorination

3. Sedimentation

4, Coagulation

5. Flocculation

The correct sequence of these processes in
a conventional water treatment scheme is
(@ 5,1,2,3,4 (b) 1,3, 4,458
c)3,4,5,1,2 (d) 4,5,3,1,2

According to Indian standard, the number
of rain gauge stations for an area of
5200 km? in plains should be

(a) 10 (b} 25

fc) 20 (@ 15

While testing for COD of SEWage, organic matter
is oxidised by K,Cr,07 ™ the presence of
(a) HCI (b) HNO, i

(c) H,SO, (d) None of these

ock 2 m long, 1 m wide and

: . The depth of
ats 11 water .
i lersdeffn 12%.5 1. 1f water weighs 10 kN/m?.

Then the weight of the block is
(a) 5 kKN (b) 20 kN

©) 15 kN (d) 10 kN

A rectangular bl

gulus’ is an index of measure
rack MO ;
L S of e UCWE §
PN ancedus to friction
(8) ResiS ' nce due to rolling
(b) Rest ce due to deformation

::l)) gﬁﬁitaﬂce due to shear
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79, frafoRea 4 @ w5 smamda 2 2

80.

81.

82.

83.

84.

85.

(a) Tafiree awm
(b) faf¥re e

(c) Tafre faafaurge
(d) fafdrse

yfer 3ol # g @

(a) 32t % g @ FOW gl

(b) RrRfes Rydl & @y aum &
(c) AT WR % TAM gAHH

(d) T % I % FEA T

fafm & T whwad 2 geeg
1. fredea

9. FATHTERTT

3. JETEA

4. @heA

5.

et ST Wee i 3 39 Simanatl w1 gal
%0 2

(@) 5,1,2,3, 4
() 3,4,5,1,2

(b) 1,3,4,2,5
(@} 45 5:3; 1,2

st T % STER, 5200 6.2 TEae &
F for, fra VS (auiamoes) W@ W 7

(a) 10 (b) 25

(c) 20 (d) 15

weise % COD ¥ whem H FEis qerd W
K,Cr,0, & i aa 8, Fer 6 ufeufa &
{a) HCI (b) HNO,

(c) H,80, (d) ¥ 9 g T

s AR five 2 Wt =, 1L =g @
1 7. e o A e B, gefl g% U 0.5, B
I qrft = R 10 kN, @ g &1 R A
& o?

(a) 5 kN
(c) 15 kN

(b) 20 kN
(d) 10 kN

fim & | frge g & ¢ MIgTR” 7
(a) HUU % HIOT Y

(b) TG F U Y

(c) FTHA F HAU HUY

(d) HTTEYUT & HAOT TN
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88.

89.

90.

ol.

92.

1to

Exit gradient is directly proportiona

(a) Seepage load

(b) Creep length

(c) Depth of cutoff
(d) None of the above

The Bernoulli’s equation is applicablf—' only
for

(a) Irrotational flow
(b) Compressible flow
(c) Inviscid, incompressible flow

{d) Viscous flow

The Buckingham-Pi theorem is widely used
in the dimensional analysis and expresses
the resulting equation in terms of

(a) the repeating variables

{b) n dimensionless parameters

(c) (n-m) dimensionless parameters

(d) geometric, kinematic and dynamic
variables

Creep is the

(a) longitudinal movement of rail
(b) difference in level of two rails
(c) lateral movement of rail

(d) vertical movement of rail

For non-passing sight distance, the height
of stationary object considered is

(a) 10 cm (b) 65 ¢cm

(c) 50 cm (d) 15 ¢cm

Muskingum method of routing satisfies the
equation

(aC,+C, +C,=0

()6, ENC, =%

() Cy+C, +C,=1

(d) None of the above

Ifa 2% solution of sewage sample is incubated
for S days at 20°C and the dissolved oxygen
depletion is 10 mg/L, then the BOD of the
sewage would be

(a) 50 mg/L (b) 2000 mg/L

(c) 500 mg/L (d) 200 mg/L

86.

87.

88.

89.

acx

91.

92.
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ufrse nfgue (Exit gradient) o i 3

{a}‘?ﬁﬁ??ﬁ'éﬁ

(b) T <1 s ©
(c)aazaﬁtﬁﬁﬂﬁﬂéﬁ

() T & & IS T

el a1 o A T
21 2

[d}WTFﬂ’r’

(b) ddtfza yama

(c) Ffafaz, wadifza 9918

(d) Faafa yamR

SR fagerqu i aTfRTH <08 T F S
2 i faen e # i i e
Y T ogad il o 7

(a) GG ST &Ted =

(b) n 3 TfEa JTe

(c) (n-m) 3T T RHIE

(d) saTfudra, nfes 3R iasie =T

%M &

(a) Xt &1 g T

(b) & & & & H 37w

(c) T& &1 ifvdes ifa

(d) I 1 FaEy 7fd

(a) 10 §.H, (b) 65 .1,

(c) 50 §.H. (d) 15 3.1,

wien Y wfegy oy gdeso = Hw ol 8
(a) C,+C, +C,=0

(B} €y G\ iCyi= 1

(€) C,+C, +C, =1

(d) IRdd F F HIE 38

AT T H 2% Hid 5 foy % fayg 20°C @
TR T W aRfio i wft 10 fm. /T
®, @ e &1 BOD &rm

(a) 50 fir.om. /eh. (b) 2000 firar. /.

(c) 500 faam. /e, () 200 fy.on. /&
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i~

95.

96.

97.

a8.

.+

The device, which can be used to cont
us as well as particulate pollutantql‘_ol
s in

aseu
al emissions i
s known as

the industri
(a) Spray tower

(b) pynamic precipitator
(©) Fabric filter

(d) Cyclone

gurface tension for an ideal fluid is

dependent on temperature

(a)

(b) zero
(c) infinite

(d) one

If the length of a chord/arc is 20 m 1n &
curve, then the relationship between R and

D in the curve will be

573 1
D D
4
(c) R=1146D (d) R:LIE)_E’

A check dam is a

{a) flood control structure

(b) water storage structure

(c) river training structure

(d) soil conservation structure

The unit power P, of & turbine developing a

power P under a head H is equal tO
2 R

(a) 7 (b) \ %

©) pu’2 @ PVH

The critical condition {of stability of slope of

an earth dam at down stream Wi
with max. seepage

(a) Reservoir empty
e water

(b) Reservoir full without por
Pressure

(¢) Reservoir full with
Ta_te

(d) None of the above

max. percolation
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93.

94.

93.

96.

97.

98.

gEST - 04
WWWW%WWWWE@
Mﬁﬁﬂﬁ?@ﬁmﬂm%,sﬁﬁa%
{a)@TZTaT
(b)wm%mm
[C}W/Wﬁﬁm
(d) T

weh TG T m%%qq@mra(sxlrface

tension) 5

[a)mqnﬂqtﬁtf(m%

(b) A

(c) 3T

(d) ¥
ﬁﬁ%ﬁﬁﬁaﬂ/ﬁﬁﬁﬁmzoﬁt.%?ﬁ,
aﬁmaﬁwaaﬂim/%aﬁﬁwwﬂém
aﬁanfwTHRﬁmﬁ;IﬁD%?

573 1718.9
VR = — (o) R=———
D D
114
() R=1146D (d) R=_1_.9
D

s U 914 (check dam) 81 8

(a) €16 T §TT

(b) e WSO T

{c)ﬂ?ﬁaﬁwgﬁm

(d) T[&1 TUEVl qLT

o ¥ 1 ¥ aw T e P eRE F ATl
e i g vt p, e & e gt

P P
(@) —; b) 37
H™ H.x"z
(c) p]_["-}"ﬁ (d) P\fﬁ

o firedl % wig A FW & o R
1 Tisfie feufy gnft afe
(a)mﬁqﬁﬁﬁ%mﬁwm
{Clmﬁﬁqm:Wa%mwwgw
(d) I0e o § B T
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100.

101.

102.

103,

104.

105.

Recirculation in “Activated sludge

is done to

(a) Dilute the incoming sewage

(b) Supply seed to the aeration tank

(c) Operate the plant continuously

(d) Dampen the effect of the flow variation
~ations for

Which one of the following specific
d order

the length of base line refers to “thir
Triangulation” system ?

(a) 0.5 to 3.0 km

(b) 10 to 20 km

(c) 5.0 to 15 km

(d) 1.5 to 5.0 km

The tower’s used in triangulation are known
as

{a) Heliotropes (b) Hunter

(c) Captain McCaw (d) Bilby

The water balance equation for a catchment
area in terms of rainfall (P), runoff (R),
evaporation (E) and storage (S) is written as
(a) R=P-E + A8

(b) P=E-R*AS

(c) R=E-P£AS

(d) R=P+E=zxAS

If the width of the highway is 10 m and
its outer edge is 40 cm higher, the super
elevation is 1 in

(a) 50 (b) 20

(c} 25 (d) 40

The observation of two photographs
simultaneously is called

(a) orthography (b) stereoscopy

(c) spectomy (d) spectrometry
Following errors are eliminated during
reciprocal levelling

(a) errors due to curvature only

(b) errors due to line of collimation

(c) errors due to refraction only

(d) error due to all above

99,

100.

101.

102.

103.

104.

105.
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() 0.5 % 3.0 fR.HN.
(b) 10 & 20 fr. AL
(©) 5.0% 15 f&.4.
(d) 1.5 3 5.0 f.H0.

g & i o e AT R &

¥ (), SR (R), AR (E) ST ST (S)
3w i sy 8 F forg T Hge WA
% w9 3 foran S 8
(a) R=P-E *AS
(b) P=E-R*4S
() R=E-PtAS
() R=P +E x AS

afe gemnt # =erE 10 . ? IR« Ed fem
40 8.1 31% %, A Al I (super elevation)

H 132
(a) 50 (b) 20
(c) 25 (d) 40
(a) TR (b) Efarerrd
(c) Sert (d) WS
%ﬁwaﬁwn%awﬂ%#%@a?ﬁﬁﬁwﬁm
ereft
(a) TSRl % RO R
(b) WE @1 F Hrw qf
(c) I=H % HRW 3R
(d) SR F wff R e
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108.

109.

110.

111.

112,

In the centrifugal pumps, the Eyjer
is independent of the following T's head

(a) Inlet radius of impelier

(b) Outer angular momentum
(c) Outlet velocity of triangle
(d) QOutlet radius of impeller

Aerosol is known as

{a) Carbon particles of microscopic size

{b) Finely divided particles of ash

(c) Diffused liquid particles

(d} Dispersion of solid or liquid particles in
air

Based on ‘30" hourly volume, for how
much percent time during the year can the
designer willingly tolerate the unfavourable
operating conditions ?

(a) 0.33 (b) 30

(c) 5.0 (d) 2.5

The ratio of the quantity of water stored in
the root zone of the crops to the quantity of
water actually delivered in the field is known

as
(a) water conveyance efficiency
{b) water use efficiency

(c) water application efficiency

(d) none of the above

Which of the following is & secondary air
poliutant ?

(a) Carbon monoxide

(b) Smog

(c) Fly ash

(d) Carbon dioxide

If 5 day 20°C BOD of a wasté water sample
is 127 mg/L, then the 8 day QU:C BOD of
the same sample is (it K= 0.23d™! (base ej)
(a) 146.3 mg/L (b) 166.3 mg/L

(c) 162.6 mg/L (d) 156.3 mg/L

The product of H ions and OH ions in a
stronger Alkali is

(a) O (b) g

(c) 107 @ 1

EEST — 04

106, @Wﬁmﬁ{aﬁgﬁﬁmﬁﬁﬂﬁa%

107.

108.

109.

110.

112,
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(a)ﬁﬁﬁ‘q'ﬂﬁaﬁaﬁsqﬁzﬁw
(b}mgﬁﬁ“ﬂﬂﬂﬁl/ﬁ%lﬂ

(c) gt Bt aEd) &

(d) @ e A H ard B
e &1 3 8

(a) T V1 BT e T

(b) T@ % qER fafara 0

(c) 58 FOil 1 FereH
(d}aﬁamﬁawﬁmmﬁﬁaﬁ

30 ah T TG T ST A ST
qamﬁ,:yﬁmﬁﬁ@éqgéma‘rm
et 7 & ?

(a) 0.33 (b) 30

(c) 5.0 (d) 2.5

wEe & wear qen Y T a9 9 S A
ﬁ,ﬂmﬁamwﬁ,magwé?ﬁﬁ%
(@) T TSR Q&I

(b) 9T IGATT Q&I

(c) WY TSR g&Far

(d) Sulea T | g AT

frfafen § @ e ag ygrs FA-H1 8 7
(@) FTET TITIHTFETES

(b) &M

ERSER

(d) T STEATHIIES

. e sfine W& & W @ 5 {9 20°C BOD

127 B m. /e, 2, @ s w3 @ 8 faA 20°C BOD
w2 7 (AR K = 0.23d" (IR e) B)

(a) 146.3 .. /eft.  (b) 166.3 v, /<f.
() 162.6 frm. /e, (d) 156.3 . /+ft.

uw wifFaunelt R H H' ™A 9€°T OH™ 3 i

%A BT 8
(a) O (b)y 107"
[c) 107 (d) 1
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113. If " is the focal length of camera and 5

114.

115.

116.

117,

118:

119.

the tilt angle, distance of the photo nadir

from the principal point will be
(a) t sin @ (b) tcot®
(c) ttan 8 (d) tcos 6

For analysis of direct runofffrom a hydmgrap_h,
the relation N = 0.827A°2 is used. In this,
the value of area ‘A’ is taken in units as

(a) Cm?

(c) Km?

(b) ha?
(d) m?

Sludge bulking can be controlled by

(a) Chlorination

(b) Denitrification

(c) Aeration

(d) Coagulation

A hyetograph is a graphical representation of
(a) Rainfall intensity and time

(b) Commutative rainfall and time

(c) Discharge and time
(d) Rainfall depth and time

The maximum value of centrifugal ratio on
roads and railways, respectively are taken as

(a) }/4 and 16 (b) % and %3
1 1
(c) /6 and 8 (d) None of the above

An unconformity is

(a) A surface of erosion or non-depesition
as detected in a sequence of racks

(b) A type of joints especially associated
with folded and faulted rocks

(c) Alayer of clay or shale in an igneous mass

(d) A layer of boulders and pabbles in a
sequence of rocks

The zero graduation in a prismatic compass
is marked in the,

(a) North end of the circle

(b) In the West end of the circle
(¢) In the South end of the circle
(d) In the East end of the circle

113,

114,

115.

116.

117.

118.

119.
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o dpey oy e G & I T R
a‘[g@qﬁgﬁqﬁ—aqﬂ {nadir}zﬁaﬁ?ﬂﬁ

(@) t sin @ (b) tcot®

(€) t tan @ (d) tcos®

T Erestu @ e STE PR ¥ Wy
N = 0,807 02y ST foRa ST B FET &7y
A% fo 2 &
(a) O 2
(c) T 1t 2

eI Trerorer (T el 1 e o6 g e
A 3

(a) FAHHTOr

(b) AL 7 T

(c) 914

(d) T

TR (hyetograph) U T@iHa Hivveafed
(@) IO <frgrar U7 9u

(b) ANTHESA a7 T G

(¢) Fdea qen v

(d) ST TRUE qET T

I qUT T W HThe1d AT 1 Nferehen
oM B

@ ) w1 e ) Y owm Y
© Yo @1 1y (q) ST H @

Teh ATgEATAn (unconformity)%

(a) I % TTHA H 9T T &or @r R-Fdo
4! wds

(b) T e i SiTg feriven el wies T Hree
areft wgH &

(c) 37 geam o frdt @ Ot it @

(d) WgHT % %0 § dest 3N Fohg il T TE

uw Rt soma 3 s was w fafea e
™ g

(a) T 1 Il BR

(b) T 1 uffam BR

(c) I gfaor BR

(d) ¥ 1 gd BR

(b) TF.2
(@) .2
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120, The mechanical extra widen

. lng Ie u. o
10.5 m wide pavement on g hormogt;{l;i:z 120. 10.5 . = gy W, F&l us Sfaw 9 R HI.

of radius R meter is given by frea 1 &, A srfife sierd farifen @0
I’ 31
{8 s {b) =— I’ 312
—_— b g
2R 2R @ o5 (b) 5
2 2!’.‘.’
(€] — (d) 2 2
1 2]
R SR © = @ 5
where, 1is the length of whee] base of the . . . .
vehicle in meters. <81 11, 1 ) % ofzwi-snan 6 e 2)
121. The permissible error in chaining for 121. 9BTSl ¥a W Hi9 gry arf) 72 gl 3 s 3fe
measurement with chain on hilly terrain is Bl ?
{a) 11in 100 (a) 100 4
(b) 1 in 1000 (b) 1000 ¥ 1
(c) 1in 500 (c) 500 ¥ 1
(d) 1in 250 (d) 250 1 1
122. Hypsometry is a method of 122, %Qﬁﬁfl o faft 2 foras
(a) surveying of water bodies (a) ST THBTEl o wdeo e
(b) determining elevation based on the (b) &t % FEUSS F YN T T =1 [y
boiling point of liquids .
(c) finding temperature at different height (c) Fafi g 1 ama 1
{d) measuring distance (d) gt Are
123. Which of the following is one of the factor | 123. fr=ifafad # @ ®-a1 Fraw F yauE =1 vaifaq
influencing the provision of camber ? HH 9 FEH Y o TH B 7
(a) Topography (a) T
(b} Drainage (b) A
(c) Sub-grade characteristics (e} 349 Hife Hi ﬁ'?TGITﬂQ
(d) Amount of rainfall (d) TR =R
124, Calculate the super elevation to be provided | 124. 100 . & =21 % dfas 7% W YeH EIEI
on the horizontal curve of radius 100 m. qreft ATEreens (super elevation) ! UM |
Design speed is 50 km/h and the design feamz 6 fy 50 fE M. /421 2 3R 0.15 % 7198
coefficient of lateral friction of 0.15 is fully i goo “ : 3
developed. bl ﬁr',mg:[ NAIEE ti\ﬁ W § faefya 2
{a) 1.0 (b) 0.047 (a) 1.0 (b) 0.047
(c) 0.337 (d) 0.917 (c) 0.337 (d) 0.917
125. Indian Road Congress was formed in the | 125. WRH ¥geh HlM 6l T B o § & ¢ of
following year 3 {a) 1929 (b) 1943
(a) 1929 (b) 194
1939 d) 1934
(c) 1939 (d) 1934 ) td)

L R
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